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H 32 £ IH 15. 00| FA % 433 6, 495 1,944 1, 499 1, 242
X H D e E 12. 00 | #H%f 293 3,516 1,512 1,019 432
F 9 NAEL w5 4. 00| FH%f 50 200 1,836] 1,188 756
H % o 3. 00| FHxf 84 252\ 1,296| 1,065 864
i A ] 1L 1. 00| FHxf 225 225 756 584 432
ENIE s.o0 fsb | 1] 51 | 3,240
HOX {r 4. 00| AR} 8 321 1,620 1,323] 1,080
AN B 2. 00| FH*} 121 242 972 793 540
[ w5 5. 00 | FHx} 620 3,100 1,890 1,349 680
~7 k= | F 3. 00 [ FH %} 37 11| 1,620 1,608 1,404
R FoEk L 2. 00 [ FH %} 9 18| 2,376 2,088 864
H i (i 5. 00| FHxf 4 20| 1,836 1,323] 1,080
T e S 10. 00| AHxf 214 2,140 2,916 2,515 1,188

A—=T 4 AbiEiE 10. 00| AHxf 138 1, 380 1,188
B ¥ = 10. 00 | #H % 70 700| 2,646 2,010 1,836
£ A It JE 10. 00 | #H%f 160 1,600 4,212 3,814 2,160
L& 2 e E 10. 00 | #H%f 435 4,350 2,700 2,291 1, 836
P=—1H X & 4. 00| fHxf 580 2,320 1,620 1,148 842
Ty al)— woE 6. 00 | #H >t 528 3,168| 2,268 956 540
ENIE 6.00| #Exf| 3| 618| 1,080 838 486
AMEE (i 0. 10| #Hxf | 4, 350 435 151 115 65
ZDEH £ ¥ 0. 20 [ #Hx} 600 120 66 50 33
LU E % 0. 20 | FHx} 150 30 72 59 40
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5 U H & 10. 00| FA % 55 550 4,860| 3,289 2,700
Yata— HF & 10. 00 | #H%f 12 120| 4,860 3,870| 3,672
bHFEED & [ 0. 27| FAx%F 5, 880 1,588 400 361 324
S E & 0. 25| FH%f 6, 460 1,619 410 311 194
BHDY S 5 0.25| #Hxf | 4, 708 1,178 302 250 162




